Vyrazy — priklady k procvi¢ovani

1) Upravte na jednodussi tvar

a) (¢ +2b+40)+(2a+b+3¢) h) (5x° +4xy —3) - (6x° +12xy —4y° + 5)
b) (5x-3y+2z)+(4x+y-32) i) —Sp+3)+6p+3)-3p+(p-1
c) (2*-b* —c®)+ (2a* - 3b% + 4c%) b)) (12x+y+2)+ (2x-5y)- (5x—y+22)

d) (1072 +75% =589 - (9r? —652+5t%) k) (~a—h+e)—(a—c—hb)—(a+c—h)
e) 127242121829 - (-5 +8z°-1) D) (Bx+2y-52)— (Tx+42)+ (2x+ ¥+ 52)
f) A-c? +ch)—(-5c"-3c*+ch) m) (3D (3t —x+])

(10— 5b% + 8)+ (-3b+7h* - 3) n) (@—2b—c)-2b-(Ba-3c)+c—(b—q)

2) Roznasobte

a) S(a+b+c) k) (6x+1)(x* -3x+4)

b)  —2.(x+2y-32) D cl-0.0-¢%)

c) 12 —uv”) m) 7yl (-6x+xiy 1)

d) 4.02a%* -9ab—-15ab%) n) (F-g+5h).(-Tm+ )

e) 2x.(ab —be + ac) 0)  (a+b)(a*+2b)(a+3b)

H  x@+2+x) P @p-1)(Epi-6p+2)

g) 2x2y%z7 6x7y 27 ) (022 —0,4b).(—5a + 4b)
h) (x+y)(a+b) r) 4x% . (1L,5x—x*-19x" —x%)
i) Qa+b)(3a* +4a-b) 5) Q2x-1)@By+1)(5z-3)

i) (3b+ 5c—2d)(dc+34d) t) (x—x))(yx-x)(y - 5x)



3) Rozndsobte

a)  [(7-2)3-5.2-2)]4 h)  (0,2¢-0,55).7a—(04a+0,65).35
b)  5[7.(x-2y)-6.Q2x-y)] i) 2.2x-3y)—[8.(x—4y) — (2x - y)]
©  1-[2.(3a-2b)+3.2a-3b)] ) 2.(x-1).2x + 2)°.[4(x 1)+ 2x + 2)]
d) —2x —[-3x— (—4x)]-[x - (-3x)] k) 5x%.(3x% +1)%.(6x) + (3x +1)°.(2x)
€ 55-3.[(25 -1).85 7] I A(x-1)2.2x+2) 2+ (2x+2)* 2.(x-1)
f) 8¢ —{-8a¢—[-8¢—(-8a)]} m)  (F+2)4[5.(x* +2)"-3].2%)
(2 + 9 —x0.2y) n) (=D +4).2x+8)— (£ + 8x —4).(4x7)

4) Upravte vyrazy se zlomky
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Vysledky

1)

a) 3a+3b+7c h) —x*—8xy+4y* -8
b) Ox-2y—=z i) -p-3

<) 3a® —4b® + 367 j) O0x—3y—z

d)  -19/° +135° —10¢7 k)  -3a+b+c

¢) 17 7% +21/2 -26g% +1 1) ~2x+3y-4z

f) 1+2¢° +5¢° m)  xt4+2x"-2x"+2x-2
g 10a-3b+2b"+5 n) —a-5b+3c

2)

a) Sg+5h+ 5S¢ k) 6x° —17x* + 21x+ 4

b) —2x—4y+oz I) o —ct-cfte

o 1212 m) 427y 4700yt - Ty

d) 48a°b - 36ab — 60ab” n) —Tfn+ R4 Tam— g —35hm+ 57k

e) 2abx — 2box + 2acx 0) ¢' +4a’b+ 3% +2a°b+8ab® +6b°

f) 20+ xPy p) 15p* —23p% +12p -2

g) 12x°yt27 qQ —a®+2.8ab-1.6b°

h) ax+ ay +bx+ by r) —4x®—7.6x° —4x* +6x7

i) G6a” +8a° +2ah+3ab—b? 5) 30xpz—6x+9y —5z—18xy +10xz-15yz+3

i) 12bc+9bd + 20c2 + Ted — 642 6) —5x% + 507 420y + Aty - 7y? 50y + 17y



Sa+44
—25x—-40y
122 +135+1

—Tx

—485% +29s +21

h)

)

k)

D

h) 1L4a* -4,7ab-1,85"

i) —2x 425y

i) 96x” +160x" —64x” —192x% —32x+32

k) 2016 + 4050x” + 2160 + 540x° + 60x" + 2

1 06x” +160x" —64x° —192x* -32x+32

m)  10x° +80x +234x" +296x" +136x
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